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Please make sure. that the printed pages in.this
question paper.-are 16 in number and it contains

21 questions.

° 797U H &l & F ST 74 T e T T dE FH
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The Code No. and Set on the right side of the
question paper should be written by the candidate

on the front page of the answer-book.
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(2) 4330/(Set : A)

° FYI TIT FH FA [IGT JE@ w7 & Yoo, T FH BHH
7T [

Before beginning to answer a question, its Serial

Number must be written.
o Fv-gikrml # &5 4 @l G/ 91 T Big)
Don’t leave blank page/ pages in your answer-book.

o FUCYRTH F GARTT FHg o s TE el o
STEFEATAR & [rd St fi@r FaT T Fel

Except answer-book, no extra sheet will be given.
Write to the point and do not strike the written

answer.

o ghereff 1T T Fo FIT-UF UT S1g9y f@y

Candidates must write their Roll Number. on the

question paper.

» U g9 F I &7 @ g4 I GIRAd & & [F JoT-0H
g7 a @&l & GUEr % ITT 54 a5 § #HE A @
@B Tel [T ST

Before answering the questions, ensure that you
have been supplied the correct and complete
question paper, no claim in this regard, will be

entertained after examination.

4330/(Set : A)

Previous Pathshala




(3) 4330/(Set : A)
A [73%

() @ FeT Sfard &

(i) §7 F97-97 7 7 21 §97 8, o G Gl A, ,
q qrs 7y 8

(i) @& - o & F97 T& 1 T 8E (i-xiv) TGTD
797 81 F97 (i) 7 (v) T TGlABAT F97 81 9%
797 H a7 [y Ry g & fored @ @@l fawey @
FIT BT FHT (Vi) @ (xiv) TF 9% H AT &
7 & =1 1 aerEl H i g 59T 1 3 #
&

(iv) &% - & 7 797 d&r 2 @ 11_G% Sifd-agaiEs
J97 &1 JA% G97 % 2 3% &1

(v) @9 - & Jo7 GE 12 @ 18 TF TLAIHE J97
&1 g% J97 F 3 o &)

(i) @Y€ - § F 797 &7 19 & 21 TF §H9 FTTHE
g7 81 g% 797 % 5 9% 81

4330/(Set : A) P.T.O.

Previous Pathshala




(4) 4330/(Set : A)

(i) @€ - § (3 FaEE 597) & @ 597 § ks

fameeq 3yerey &1 OF gol § @ oy & T g 4
@ T TF & 997 H &)

General Instructions :

(9
(%)

(iii)

()

All questions are compulsory.

This question paper contains 21 questions,
which are divided into four Sections : A, B,

C and D.

Section - A contains. question —number 1
having fourteen (i-xiv) objective type questions.
Question  from (1) to(v) multiple choice type
questions. ~Each question carries four options,
from . which choose the correct option. The
answer of each question from (Vi) to (xav) may be
giwen in one or two words or sentences. Each

question carries 1 mark.

Section - B contains question numbers 2 to
11 of very short answer type questions and

carry 2 marks each.

4330/(Set : A)

Previous Pathshala




(5) 4330/(Set : A)

(v) Section - C contains question numbers 12 to
18 of short answer type questions and carry

3 marks each.

(vi) Section — D contains question numbers 19 to
21 of long answer type questions and carry

5 marks each.

(vit) Internal choice is available in two questions
of Section-D (Long Answer Type Questions).
You have to attempt only one of the given
choice in such questions.
gug -
SECTION - A

(a¥gFrs 53)

(Objective Type-Questions)

1. () 799 § & sAaE & e S ed & ¢ ]

(A) 44

(B) 46

(C) 22

(D) 23
4330/(Set : A) P.T.O.

Previous Pathshala




(6) 4330/(Set : A)

How many pairs of autosomal

chromosomes are present in human ?

(A) 44
(B) 46
(C) 22
(D) 23
(i) wiey F@ e ? 1
(A) STRABHI
(B) Hedl
(C) IHTR
(D) gy

Coelacanth was a :
(A) Invertebrate
(B) Fish

(C) Amphibian

(D) Reptile
4330/(Set : A)

Previous Pathshala




(7) 4330/(Set : A)

(i) T faxoopa & ©F T F 20% WECES 81 3EH
fpe ofasrd oAt ertt ¢ o

(A) 20%
(B) 40%
(C) 30%
(D) 10%

A double stranded DNA has 20% cytosine.

What will be.the percentage of thiamine in

it ?
(A)  20%
(B) . 40%
(@) 30%
(D) /10%
(iv) AFa %Y e 7 fe ofF 8 ¥ ? 1
(&) 231
(B) 456
(C) 196
(D) 192
4330/(Set : A) P.T.O.

Previous Pathshala




(8) 4330/(Set : A)

How many genes are present in human 'Y’

chromosome ?

(A) 231
(B) 456
(©) 196
(D) 192
(v) STafE i ST T § 7 1
(A)  ier (&)
(B)  wEiieer AT
(€) T
(D) & & %13 Tl

Which is a primary lymphoid organ ?
(A) Spleen

(B) Lymph node

(C) Peyer's patch

(D) None of these
4330/(Set : A)

Previous Pathshala




(9) 4330/(Set : A)
(vi) g & DA B TSI B AT B A GABH Bl
M fafe 1

Name the nematode which infects the roots

of tobacco plant.
(vii) 39 I H T ffae Fe ‘eaar (o)
e fem 1

Name the scientist who coined the term
'linkage'.

(vii) 2002 # Haq fow@ w99 @@ FB W
g ? 1

Where  was = the = World~Summit of
Sustainable Development held in 2002 2

(ix) fogeisd SR Ferisdl &= 8 ? 1
What is Apocarpous and Syncarpous ?
(x) OXFEE R FEd © ? 1

What is Xenogamy ?
(xi) AR Bl FEAT THAFE TN BIF-8 & 7 1

Which is the most common species of

honeybee ?

4330/(Set : A) P.T.O.

Previous Pathshala




(10) 4330/(Set : A)
(xil) 3 9 F AW fRaw PEE b o< S SR

2|

Name the plant from which Cocaine is

obtained.
(xiti) AT & TS B T AT
Name causative organism of Pneumonia.

(xiv) MOET %] faeia @i

Write the full form. of MOET:.

gus - §
SECTION - B

(eAfRr-SgeTeT 5)

(Very Short Answer Type Questions)

2. U4 ¥ Ol #ifde yaet & S fafau

Name various vegetative propagules in plants.

4330/(Set : A)

Previous Pathshala




(11) 4330/(Set : A)
3. B A gA &l A R ST AT U S 8 7 2
Why are small animals rarely found in polar

regions ?

4. 59 GFFF o] & JUEA § GESHAl B FT R er
T 7 2

What is the role of microbes in the production of

bioactive molecules ?

5. S fFET § ScaEad & g e 2

Write ~down the .role of Baculoviruses: in

biological control.

6. IRTT (IRTEEAEN) THri1h T & ? T_Y S HrEwA |
T B I B ? 2

What is bagging technique ? How is it useful in

a plant breeding programme ?

4330/(Set : A) P.T.O.

Previous Pathshala




(12) 4330/(Set : A)
7. TR AR RS & F a § 7 2

What are the functions of Exonucleases and

Endonucleases ?

8. SIdl i Iq WA H H T AR SEE g8 S
8, T SFIET FA dR HIC Hl AR &l & 7 2

Why does the Bt toxin not kill the bacterium
that produces it but kills the insect that ingest

it ?

9. Siiq %, AFERIG SR § JA9d =T Hi-4 eld & ! 2

What are the basic steps-in genetically modifying

an organism ?

10. 3Jiq:fafree g 1 8 ? U Qe ffau 2

What is interspecific hybridization ? Write an

example.

11. Tg<igel o Uizl &1 & ? 2

What is Aneuploidy and Polyploidy ?

4330/(Set : A)

Previous Pathshala




(13) 4330/(Set : A)
goe - g
SECTION - C

(I 597)

(Short Answer Type Questions)

12. 399eq F1 8 ? Fed H M H FEEG FW a@
SITgET qeh HiA-9 § ¢ 3
What is Decomposition ? What are the climatic
factors that regulate it ?

13. a9y gfte & faara & = efa @ 8 ° 3
What -are the three connotations of theory of
special creation ?

14. RO ARG & FHT IPTHCTEl gy g H S|
fafaear & arH fofemy 3
Write = about the biodiversity in Tropical
Amazonian rain forest in South America.

15. SARER: SUART BEal & SdRT & F A9 & ! 3
What are the advantages of production of
genetically modified crops ?

4330/(Set : A) P.T.O.

Previous Pathshala




(14) 4330/(Set : A)
16. R afeHtze g & auid HifT 3

Describe various Cannabinoid drugs.

17. fdg SORade (WEe =geem) o %A R =esm w0
g ? Sfgdem @ U o ot ' O? RE g
JaTEYT T 3

What are point mutation and frame shift
mutation ? What do you mean by a mutagen ?

Give any one example.

18. 2% TGS Sl HUHA B AU 3

Describe Test Tube Baby Programme.

gos - §
SECTION — D
(S ST 99)

(Long Answer Type Questions)

19. SR 1 Bl & ¢ SR HGOT % T G9E B © 5

What is Noise ? What are the effects of noise

pollution ?

4330/(Set : A)

Previous Pathshala




(15) 4330/(Set : A)

YqT

OR

3NN T e TR &t ® ? qUeH! fafeRer & sen
Y R S BT YHR T99 929 ? 5

How does ozone depletion take place ? How will

enhanced ultraviolet radiation affect us ?

20. IS IHE HI G B AT g9 i 5
Describe the structure of transcription unit in
detail.

UG

OR
fegeeht & o7 T P w1 B g vl e 5
Write down the salient features of double helix
structure of DNA.

4330/(Set : A) P.T.O.

Previous Pathshala




(16) 4330/(Set : A)

21. YOI FACERIA & AHihd ARG HE H 7 BT
AR ZEB HLET B AU o 5

Draw a well labelled sectional view of

seminiferous tubule and explain its structure.

4330/(Set : A)

Previous Pathshala
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° T e T [ 54 L5370 4 JRT 78 16 o
797 21 &

Please make sure. that the printed pages in.this
question paper.-are 16 in number and it contains

21 questions.

° 797U H &l & F ST 74 T e T T dE FH
B FOT-gi&rel & JE-95 9T g

The Code No. and Set on the right side of the
question paper should be written by the candidate

on the front page of the answer-book.

4330/(Set : B) P.T.O.
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(2) 4330/(Set : B)

° FYI TIT FH FA [IGT JE@ w7 & Yoo, T FH BHH
7T [

Before beginning to answer a question, its Serial

Number must be written.
o Fv-gikrml # &5 4 @l G/ 91 T Big)
Don’t leave blank page/ pages in your answer-book.

o FUCYRTH F GARTT FHg o s TE el o
STEFEATAR & [rd St fi@r FaT T Fel

Except answer-book, no extra sheet will be given.
Write to the point and do not strike the written

answer.

o ghereff 1T T Fo FIT-UF UT S1g9y f@y

Candidates must write their Roll Number. on the

question paper.

o UF T H T i1 @ d T8 GIPET F A [ JT-H
g7 a @&l & GUEr % ITT 54 a5 § #HE A @
@B TEl [T ST

Before answering the questions, ensure that you
have been supplied the correct and complete
question paper, no claim in this regard, will be

entertained after examination.

4330/(Set : B)

Previous Pathshala




(3) 4330/(Set : B)
A [73%

() @ FeT Sfard &

(i) §7 F97-97 7 7 21 §97 8, o G Gl A, ,
q qrs 7y 8

(i) @& - o & F97 T& 1 T 8E (i-xiv) TGTD
797 81 F97 (i) 7 (v) T TGlABAT F97 81 9%
797 H a7 [y Ry g & fored @ @@l fawey @
FIT BT FHT (Vi) @ (xiv) TF 9% H AT &
7 & =1 1 aerEl H i g 59T 1 3 #
&

(iv) &% - & 7 797 d&r 2 @ 11_G% Sifd-agaiEs
J97 & JA%F G97 % 2 3% &1

(v) @9 - & Jo7 GE 12 @ 18 TF TLAIHE J97
&1 g% J97 F 3 o &)

(i) @Y€ - § F 797 &7 19 & 21 TF §H9 FTTHE
g7 81 g% 797 % 5 9% 81

4330/(Set : B) P.T.O.

Previous Pathshala




(4) 4330/(Set : B)

(vii) G - T (3% FTIHE F97) B @ FoT T oaRE

fameeq 3yerey &1 08 goal § @ oy & T g 4
@ el TF & F97 H &1

General Instructions :

(9
(%)

(iii)

()

All questions are compulsory.

This question paper contains 21 questions,
which are divided into four Sections : A, B,

C and D.

Section - A contains. question —number 1
having fourteen (i-xiv) objective type questions.
Question  from (1) to(v) multiple choice type
questions. ~Each question carries four options,
from . which choose the correct option. The
answer of each question from (Vi) to (xav) may be
giwen in one or two words or sentences. Each

question carries 1 mark.

Section - B contains question numbers 2 to
11 of very short answer type questions and

carry 2 marks each.

4330/(Set : B)

Previous Pathshala




(5) 4330/(Set : B)

(v) Section - C contains question numbers 12 to
18 of short answer type questions and carry

3 marks each.

(vi) Section — D contains question numbers 19 to
21 of long answer type questions and carry

5 marks each.

(vit) Internal choice is available in two questions
of Section-D (Long Answer Type Questions).
You have to attempt only one of the given
choice in such questions.
gusg - H
SECTION - A
( 757)

(Objective Type Questions)

1. () Frefatea & 8 diF-ar fGer (Rigm) sgaea &
1

SAETTR 2
(A) e
(B) ETHwEX
(C) =X
(D) T & & Tl
4330/(Set : B) P.T.O.

Previous Pathshala




(6) 4330/(Set : B)

Which of the following syndrome is an

example of polyploidy ?
(A) Down

(B) Klinefelter

(C) Turner

(D) None of these

(i) 200 fHfeET af gd dad: wedl S| TgY & &9
¥ H-91 ST ol ? 1
() TIEEE
(B) sfrEERE
(C) UfrpreE
(D) FH & 5 T

Which fish like reptile evolved probably
200 mya ?

(A) Tyrannosaurus
(B) Ichthyosaurs
(C) Pelycosaurs

(D) None of these

4330/(Set : B)

Previous Pathshala




(7) 4330/(Set : B)

(i) M= & | 9 oM =T F dhaw Th AR

% B & 7 1
(A)  TICHIRT
(B) feeerer
(C) TERN

(D) STEEE

Which of the following amino acid has only

single genetic code ?
(A). Glutamine
(B) Tryptophan
(C) Asparagine
(D) Isoleucine
(iv) §0 X U9 T (mRNA) & &M oTjarad Ha
8 1
(A) X TF T iR I
(B) &R T T Ufeiiiet II
(C) &R T T i@ 11

(D) & T T GRS
4330/(Set : B) P.T.O.

Previous Pathshala




(8) 4330/(Set : B)

mRNA is transcribed by :
(A) RNA polymerase I
(B) RNA polymerase II
(C) RNA polymerase III
(D) DNA polymerase
(v) F=# @ d-ar orEss O 8 7 1
(A) F

(B). TgH

a2

(©)  (A) 3R (B) &Ml
(D) e

Which of the following is a non-infectious

disease ?

(A) Cancer

(B) AIDS

(C) Both (A) & (B)

(D) Ringworm
4330/(Set : B)

Previous Pathshala




(9) 4330/(Set : B)
(vi) S asmveel @ AW fafew R damfa @
pEay Re fEm 1

Name the scientists who gave chromosomal

theory of inheritance.
(vii) RE-fE-990 & gl W fRE o H gem
o1 ? ’

In which year the Earth Summit was held

in Rio-de-Janeiro ?

(viii) GRYETAY B8 Hed § 2 qe e S F urEn S

g7 1
What is perisperm ? In which seeds it is
present ?

(ix) ‘SETEE’ 8 FHed .2 1
What is '‘Biopiracy' ?

(x) GTIgSdr qRRTeT 4 T 7 1
What is Geitonogamy ?

(xi) “GEQ 8 ? 1

What is 'Pomato' ?

4330/(Set : B) P.T.O.

Previous Pathshala




(10) 4330/(Set : B)

(i) TSH & YRS § B T A@ T ql HHE-AT
eI aEreT e S © 7 1

Which diagnostic test is widely used to
detect AIDS ?

(xiii) TEHIEE & WD H AW AT 1
Name causative organism of Typhoid.
(xiv) IRRI & faeamia. Hift 1
Write the full form of TRRI.
que -9

SECTION - B

(S-S %)

(Very Short Answer Type Questions)

2. I =9 & @9 ol =T a4 & ? 2

What are the advantages and disadvantages of

external fertilization ?

4330/(Set : B)

Previous Pathshala




(11) 4330/(Set : B)
3. URelar @ e srggman @ ¥ 2

What are the various adaptations of parasites ?

4. TIEHNES R & ? 30D WA HT § 7 2

What is mycorrhiza ? What are its uses ?

5. T SfFdeH feHiE (St o &) ®1 5 ? T® M
i © 7 2

What is Biochemical Oxygen Demand (BOD) ?

What does it indicate ?

6. B-HTTT M B ? IE _FEl ST Y HOH & B ?
Pr-Head § wiEfor EeTs & T SdEl 2

What is triple fusion ? Where & how does it take

place ? Name the nuclei involved in triple fusion.

7. Ufiem @ § ? UH SaeYr 9ied SR S 2

What are palindromes ? Explain with an

example.

4330/(Set : B) P.T.O.

Previous Pathshala




(12) 4330/(Set : B)

8. IgdRes MG AREgel ) USHE fele =g
% JER % S} H e 2
Write about the treatment of adenosine

deaminase deficiency by genetically engineered

lymphocytes.

9. YN § T T &l WUl HIREHS F Ha BT Bl
GESAT-ATT  (TEEYRE) R IAifRes fafyr @@
g7 2
What is the microinjection‘and biolistics method

to introduce the recombinant DNA into the host

cells ?
10. 9% HYTER-UeH & U o HewyY (45 -9
g7 2

What are the important points for successful

Bee-keeping ?

11. Tyl gsfeen ofR gewwfe @ 8 ? 2

What is incomplete dominance and co-

dominance ?

4330/(Set : B)

Previous Pathshala




(13) 4330/(Set : B)
gos -
SECTION-C

(I 597)

(Short Answer Type Questions)

12. S # Y AgehHOT 1 auie it 3
Describe primary succession in water.

13. Sl aX1 0 9+ (1) & S0l |fed aui o3
Explain natural selection with. an example of
moth.

14. f5El &3 %l 99 afygar = e en % =& g, 8
g 7 3
What are the consequences of loss of biodiversity
in a region ?

15. UReiEl Sigefl (sigeive oFmed) @ ofdew S |
AT 1 GO Bl 3
Explain the role of transgenic animals in
biological products.

4330/(Set : B) P.T.O.

Previous Pathshala




(14) 4330/(Set : B)

16. T & a9 & BVERE I99 H1 & ¢ 3

What are the harmful effects of using Tobacco ?

17. 9 & &9 3 fo Geiftear Aol @ SugE W
T 7 3

Why Drosophila melanogaster was found

suitable for Morgan's work ?

18. TR SiqisRl Rl (3rer-actey feard (o g )
el i Sy 3

Describe various Intra-Uterine Devices (IUD).

gos - &
SECTION - D
(€ ST 99)

(Long Answer Type Questions)

19. @ T 1 8 ? g6 q9E AR 5

What is Algal bloom ? Write its effects.

4330/(Set : B)

Previous Pathshala




(15) 4330/(Set : B)

AYAT
OR

A9 &SH U9 H aUN i 5

Describe Green House Effect.

20. ¥ O T & UiciigRdicEgs (AEr & TEEE G
1 U T 5

Describe 'the  chemical - structure of a

polynucleotide chain of DNA.
SLE

OR

B X AW WA & qUH s e R e &
S T U AR T 3 5

Describe Hershey-Chase experiment to prove

that DNA is the genetic material.
4330/(Set : B) P.T.O.

Previous Pathshala




(16) 4330/(Set : B)

21. @WF I FH AREE Il FH AW & TR T
LI & guie it 5

Draw a well labelled diagrammatic sectional view

of mammary gland. Describe its structure.

4330/(Set : B)

Previous Pathshala
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° T e T [ 54 L5370 4 JRT 78 16 o
797 21 &

Please make sure. that the printed pages in.this
question paper.-are 16 in number and it contains

21 questions.

° 797U H &l & F ST 74 T e T T dE FH
B FOT-gi&rel & JE-95 9T g

The Code No. and Set on the right side of the
question paper should be written by the candidate

on the front page of the answer-book.
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(2) 4330/(Set : C)

° FYI TIT FH FA [IGT JE@ w7 & Yoo, T FH BHH
7T [

Before beginning to answer a question, its Serial

Number must be written.
o Fv-gikrml # &5 4 @l G/ 91 T Big)
Don’t leave blank page/ pages in your answer-book.

o FUCYRTH F GARTT FHg o s TE el o
STEFEATAR & [rd St fi@r FaT T Fel

Except answer-book, no extra sheet will be given.
Write to the point and do not strike the written

answer.

o ghereff 1T T Fo FIT-UF UT S1g9y f@y

Candidates must write their Roll Number. on the

question paper.

» U g9 F I &7 @ g4 I GIRAd & & [F JoT-0H
g7 a @&l & GUEr % ITT 54 a5 § #HE A @
@B Tel [T ST

Before answering the questions, ensure that you
have been supplied the correct and complete
question paper, no claim in this regard, will be

entertained after examination.

4330/(Set : C)

Previous Pathshala




(3) 4330/(Set : C)
T (7397 -

() @ FeT Sfard &

(i) §7 F97-97 7 7 21 §97 8, o G Gl A, ,
q qrs 7y 8

(i) @& - o & F97 T& 1 T 8E (i-xiv) TGTD
797 81 F97 (i) 7 (v) T TGlABAT F97 81 9%
797 H a7 [y Ry g & fored @ @@l fawey @
FIT BT FHT (Vi) @ (xiv) TF 9% H AT &
7 & =1 1 aerEl H i g 59T 1 3 #
&

(iv) &% - & 7 797 d&r 2 @ 11_G% Sifd-agaiEs
J97 & JA%F G97 % 2 3% &1

(v) @9 - & Jo7 GE 12 @ 18 TF TLAIHE J97
&1 g% J97 F 3 o &)

(i) @Y€ - § F 797 &7 19 & 21 TF §H9 FTTHE
g7 81 g% 797 % 5 9% 81

4330/(Set : C) P.T.O.

Previous Pathshala




(4) 4330/(Set : C)

(vii) G- T (84 FaeIE J97) & @ Je7 7 NG

fameeq 3yerey &1 08 gol § @ oy & T g 4
d T TF & 997 HC &

General Instructions :

(9
(%)

(iii)

()

All questions are compulsory.

This question paper contains 21 questions,
which are divided into four Sections : A, B,

C and D.

Section - A contains. question —number 1
having fourteen (i-xiv) objective type questions.
Question from (i) to(v) multiple choice type
questions. ~Each question carries four options,
from . which choose the correct option. The
answer of each question from (Vi) to (xav) may be
giwen in one or two words or sentences. Each

question carries 1 mark.

Section - B contains question numbers 2 to
11 of very short answer type questions and

carry 2 marks each.

4330/(Set : C)

Previous Pathshala




v)
(vi)
(vii)
1. (i)
4330/(Set :

(5) 4330/(Set : C)

Section - C contains question numbers 12 to
18 of short answer type questions and carry

3 marks each.

Section — D contains question numbers 19 to
21 of long answer type questions and carry
S marks each.

Internal choice is available in two questions
of Section-D (Long Answer Type Questions).
You have to attempt only one of the given
choice in such questions.
gusg - H
SECTION - A
( 957)

(Objective Type Questions)

T & 9 -8 AT HaE T STl qe

B 1
A) foa o ff

(B) MBI

(C) (A) &R (B) QI

(D) EMifer

C) P.T.O.

Previous Pathshala




(6) 4330/(Set : C)

Which of the following is an autosomal

linked recessive trait ?
(A) Sickle cell anaemia
(B) Phenylketonuria
(C) Both (A) & (B)

(D) Haemophilia

(i) 1938 ¥ Yy Fel 4 el T o ? 1
(A) I STARE |
(B) &Rl emiRE §
(C) 9Rded ¥
(D) ARl SRl A

In 1938 Coelacanth was Caught from :
(A) North America

(B) South America

(C) India

(D) South Africa
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(7) 4330/(Set : C)
(i) FEAEES & EEgiAE 9 fhEw o 78
gl ? 1
(A) a7
(B) e
(C) U</ PR
(D) WIEhIG =T

The hydrolysis of nucleoside would not
yield :

(A) " Purine

(B) - Pyramidine

(C) Pentose sugar

(D) Phosphoric acid

(iv) W I o 1 H o SiF 2id § ? 1
(A) 231
(B) 456
(C) 2968
(D) 3600
4330/(Set : C) P.T.O.

Previous Pathshala




(8) 4330/(Set : C)

How many genes are present in human

Chromosome No. 1 ?

(A) 231
(B) 456
(C) 2968
(D) 3600
(v) -4 & dEee ST S 7 1
(A) i
(B)  &ffeer Hooqr
(C)  I=A4
(D) &M & & T

Which is a secondary lymphoid organ ?
(A) Spleen

(B) Bone marrow

(C) Thymus

(D) None of these
4330/(Set : C)
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(9) 4330/(Set : C)

(vi) g (SR T B ? 1
What is 'autogamy' ?

(vii) S fafeeear @ B 7 1
What is gene therapy ?

(viii) T M IaRacor & W i 1
Name one physical mutagen.

(ix) STTEl %o M8 ? U SR A 1
What are false fruits ? Give an-example.

(%)  STERN (TE-di) S e 7 1
What is ex-situ-conservation ?

(xi) STI-YREHTT T 5 7 1

What is biofortification ?

(xii) Fpe TXEIOT & BT TEHIES X Bl YR Bl el
g7 1

By which test typhoid fever could be

confirmed ?
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(10) 4330/(Set : C)
(xiii) Pada (TFAbleaE) & IeES & T fafaw 1

Name causative organism of Elephantiasis.
(xiv) IARI &I faeqiRa #ifsm 1
Write the full form of IARI.
qig -§
SECTION - B

(S-S 1)

(Very Short Answer Type Questions)

2. YRNHeE F & 0 el g sar & 9 fafee e
I U Sl 2 2

What is parthenogenesis ? Name any two

organisms in which it takes place.

3. 5 YR & AR § R >

Write about brood parasitism.
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(11) 4330/(Set : C)
4. SE-IaH & W9 F JFERA H g [ 2

Write down the role of bacteria as biofertilizers.

5. GOl STa-fEseT HRe% fhE TR GeXws heiua Hl
T e § 7 2

How does microbial biocontrol agents control

butterfly caterpillars ?

6. e TR Gl B R w27 2

What are the various characteristics of insect

pollinated flowers ?

7. TF A9 IR N S T T o ¥ A FHRX qeH
ST S B 2

How is bacterial cell made competent to take up

DNA ?
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(12) 4330/(Set : C)

8. I9 Siig F M FARY S R ST Y&l B 8l TG
5 OEH B A BER & [T B S A A e P2

Name an organism that produce cry proteins.
How has man exploited this protein to his

benefit ?

9, ‘THRUFT & IR ¥ fafau 2

Write about 'bioreactors'.

10. ANEE AR gEaE & g P 0% & -gF SEE
S 2

What is monosomy and trisomy ? Give one

example of each.

11. HeEIYe, SNgEeH USEl TEH JFs (MOET) & SR
7 foRem 2

Write about Multiple Ovulation Embryo Transfer
Technology (MOET).
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qug - 9
SECTION - C

(e 597)

(Short Answer Type Questions)

12. gRRefe fRfe & dmd g § ° 3
What are the Ilimitations of Ecological
pyramids ?

13. o & fhaifafer &1 9o ik 3
Describe mechanism of evolution.

14. 39 fafqgar @ @@ & U 2oesy § SRl 76 &
qui oY 3
Describe the broadly utilarian argument for
conserving biodiversity.

15. RS S (FieEite o) @ & 7 U & stere |
Tl T e B 7 3
What are transgenic animals ? Explain their role
in study of disease.
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16.

17.

18.

19.

(14) 4330/(Set : C)

TSl # 8 P ueel $ U A wiREel § #e-9
I ead & 7 O STRaett & ql @ fRaw) 3
What is Allergy ? What are the chemicals

released from mast cells for allergy ? Write down

the symptoms of allergic reactions.

fh T HRE ¥ 1900 3o d% HSA & HE T & @A
g7 3

What were the reasons due to which Mendel's

work remained unrecognized till 1900 AD ?

i & o A RREE @1 9 S 3

Describe oral contraceptives.

gos - T
SECTION - D
(S ST 99)

(Long Answer Type Questions)

fagereandt SWET & HRON AR TAE H U i@ 5

Discuss the causes and effects of Global

Warming.
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(15) 4330/(Set : C)

AYAT
OR

‘GH T H U BT 5

Describe the 'Jhum Cultivation'.

20. 8 O7 U & o6l dhgiEE @ e v @ e
TOeH § &I & TG H 9O Al 5
Describe Meselson and Stahl's ‘experiment to
prove semiconservative DNA replication.

AYqT
OR
Bithy & ST § T T wqidy i & aUE S 5
Describe transforming principle given in
Griffith's experiments.
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(16) 4330/(Set : C)

21. U AHihd RE B eI 8 PR BT H ave
i1 5

Describe the structure of a sperm with the help

of a well labelled diagram.
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(2) 4330/(Set : D)

° FYI TIT FH FA [IGT JE@ w7 & Yoo, T FH BHH
7T [

Before beginning to answer a question, its Serial

Number must be written.
o Fv-gikrml # &5 4 @l G/ 91 T Big)
Don’t leave blank page/ pages in your answer-book.

o FUCYRTH F GARTT FHg o s TE el o
STEFEATAR & [rd St fi@r FaT T Fel

Except answer-book, no extra sheet will be given.
Write to the point and do not strike the written

answer.

o ghereff 1T T Fo FIT-UF UT S1g9y f@y

Candidates must write their Roll Number. on the

question paper.

» U g9 F I &7 @ g4 I GIRAd & & [F JoT-0H
g7 a @&l & GUEr % ITT 54 a5 § #HE A @
@B Tel [T ST

Before answering the questions, ensure that you
have been supplied the correct and complete
question paper, no claim in this regard, will be

entertained after examination.
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(3) 4330/(Set : D)
T [73%r -

() @ FeT Sfard &

(i) §7 F97-97 7 7 21 §97 8, o G Gl A, ,
q qrs 7y 8

(i) @& - o & F97 T& 1 T 8E (i-xiv) TGTD
797 81 F97 (i) 7 (v) T TGlABAT F97 81 9%
797 H a7 [y Ry g & fored @ @@l fawey @
FIT BT FHT (Vi) @ (xiv) TF 9% H AT &
7 & =1 1 aerEl H i g 59T 1 3 #
&

(iv) &% - & 7 797 d&r 2 @ 11_G% Sifd-agaiEs
J97 &1 JAF g7 % 2 3% &1

(v) @9 - & Jo7 GE 12 @ 18 TF TLAIHB J97
&1 g% J97 F 3 o &)

(i) &Y€ - § F g57 G&r 19 § 21 7% & FTHE
g7 &1 9% J97 & 5 37F &
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(4) 4330/(Set : D)

(vii) G - T (8% FTIHE F97) B @ FoT T oaRE

fameeq 3yerey &1 08 goal § @ oy & T g 4
d P TF & 997 H &)

General Instructions :

(9
(%)

(iii)

()

All questions are compulsory.

This question paper contains 21 questions,
which are divided into four Sections : A, B,

C and D.

Section - A contains. question —number 1
having fourteen (i-xiv) objective type questions.
Question  from (1) to(v) multiple choice type
questions. ~Each question carries four options,
from . which choose the correct option. The
answer of each question from (Vi) to (xav) may be
giwen in one or two words or sentences. Each

question carries 1 mark.

Section - B contains question numbers 2 to
11 of very short answer type questions and

carry 2 marks each.
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(5) 4330/(Set : D)

(v) Section - C contains question numbers 12 to
18 of short answer type questions and carry

3 marks each.

(vi) Section — D contains question numbers 19 to
21 of long answer type questions and carry

5 marks each.

(vit) Internal choice is available in two questions
of Section-D (Long Answer Type Questions).
You have to attempt only one of the given
choice in such questions.
gusg - H
SECTION - A
( 757)

(Objective Type Questions)

1. () = #0% f-@ fer (Fgm) A=t @

SAETTR 2 1
(A) 13
(B) FIgTEeX
(C) TR
(D) 3 & F3 Tl
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(6) 4330/(Set : D)

Which of the following syndrome is an

example of monosomy ?
(A) Down

(B) Klinefelter

(C) Turner

(D) None of these

(i) STSMET Aoel Huaa: fhe i av gd e

g 7 1
(A). 320
(B) 350
(C) 400
(D) 500

How many mya jawless fish probably

evolved ?
(A) 320
(B) 350
(C) 400
(D) 500
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(7) 4330/(Set : D)

(it) Fr=foiad 60 &9 50 € o T & ANl s &

R 9| § AT 2id § 7 1

(A)  HIERSTETEY

(B) TH-TSIEHIISS

(C) Uer=s

(D) BIERISH

Bases in two strands of DNA are paired by

which of the followings bond ?

(A). Phosphodiester

(B) 'N-glycosidic

(C) Peptide
(D) Hydrogen

(iv) TEEEAA AR TT T (fRNA) & HM ST
BT &7 1

(A) ¥R TF T UfHRS 1
(B) &R T T Uiaeest II
(C) &R T T Uit 111

(D) & T T UielioRe
4330/(Set : D) P.T.O.
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(8) 4330/(Set : D)
rRNA is transcribed by :
(A) RNA polymerase I
(B) RNA polymerase II
(C) RNA polymerase III

(D) DNA polymerase
(v) = & @ &9 o & Ml (i) 8- W)

Bt © ° 1
(A) TEE FHIRHT

(B) " wiceAEia (AFeRer)

(C). B R

(D) S HifLrHT

Which of the following is present at the
chalazal end of the embryo sac ?

(A) Synergids

(B) Antipodals

(C) Central cell

(D) Eggcell
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(9) 4330/(Set : D)
(vi) T8 SIM S Heds BN aid SN qeenl B @l
frifa &% © ? 1

The protein encoded by which gene controls

corn borer ?

(vii) ThE IS I IS A 1 & 7 1
What is the scientific name of fruit fly ?

(viii) G2 B ? 1
What is Endemism ?

(ix) ‘SHoTgETER F e ? 1
What is 'hypocotyl' ?

() I B RERR B E W P o ok § 2

'Himgiri' variety of wheat is resistant to

which disease ?
(xi) ‘STBIT FME ? 1
What is 'interferon' ?

(xii) STHISEIRE & oD S AW [ 1

Name causative organism of Amoebiasis.
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(10) 4330/(Set : D)
(xiti) THTRET I 78 FBd § P TF SAmA |

What is autoimmune disease ? Give an

example.
(xiv) SCP @l fowamia i 1
Write the full form of SCP.
qus - §
SECTION - B

(S-S 95)

(Very Short Answer Type Questions)

2. 9@ e Bl ARG T 39 JhaH SRl 2

Define external fertilization. Mention its

disadvantages.

3. AT X FH-aAfoT #m 7 ? 2

What is amensalism and commensalism ?
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(11) 4330/(Set : D)
4. S9-3AH | GEMSEIRAT B G 7 s ? 2

What is the role of cyanobacteria as biofertilizers ?

5. fehivad U o I H GeASial sl e [ 2

Write down the role of microbes for the

production of fermented beverages.

6. d1g ST TIFE Gl &l @ faervan & § ? 2

What are the ‘various characteristics of wind

pollinated flowers ?
7. @ € X & R IR R 8 P e Sfare] @ e
1 OF T Uifqeet. 9o f6ar o © ? 2

What are the various steps of PCR ? From which
bacteria thermostable DNA polymerase is

isolated ?

8. Sg-NEfen & Rt ofrgdea & H-9 8 ? 2

Which are various research areas of

biotechnology ?
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(12) 4330/(Set : D)
9. Hawesh § FIMT BT &G FicrpiadT B IAR B aX H
faaT 2

Write about origin of replication required to

facilitate cloning into a vector.

10. Repd 8 THAIET 1 AR HROT 41 8 7 2

What is the genetic cause of sickle cell

anaemia ?

11. SE:HHT 3 I] ¥ e 2

Write about outcrossing.
gvs - 9
SECTION -C
(ST 55)

(Short Answer Type Questions)

12. FHET Td BEHRE I § Y W HifT) 3

Differentiate between carbon and phosphorus

cycle.
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(13) 4330/(Set : D)
13. @Y & YA & JOF FHioT) 3

Describe Miller's experiment.

14. TR I 91 B € ? ¥ FHE W UT Sq § 7 I
Sig fafed & @ i@ © 7 3

What are sacred groves ? Where are they found ?

What is their role in biodiversity ?
15. 9RSiEl Sgell (Seie OiHed) & e siRih od
ferpre & & gfte © 7 3

What is the role of transgenic animals in normal

physiology and development ?

16. el UfAEm & ARIRE U9 ST AT =41 & ? 3

What are the physical and cellular barriers of

innate immunity ?
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(14) 4330/(Set : D)

17. A9 @9 IO (STD) & YOI @& 1 & ¢ 3

18.

19.

W & o T bl o o fobeT |qemeer el &1 qre
HEA ARy ? 3

What are the early symptoms of STD (Sexually
Transmitted Disease) ? What simple principles

should be followed to prevent these diseases ?

HEEH AR 9N % Fgel § Y H aUiF S| 3

Describe the differences between the behaviour

of chromosomes and the genes.

gue -
SECTION = D
(S SRS 99)

(Long Answer Type Questions)

AT (SHREIF) & F IR Bd & 7 it
(Tie) @ SR # fafagy 5

What are the consequences of deforestation ?

Write about reforestation.
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20.

(15) 4330/(Set : D)

e

OR
Ffed WM SR ST BN Wiglae || &
Pt & ar faR SRl &1 avie i) 5

Describe  various  factors which  cause
degradation of natural resources by improper

utilization & maintenance.

qHe S gl [AQwdrEl & ol i) 5
Describe the salient features of Human Genome.
e
OR
U HIET & SRl-Fo FemE dfs B V@ &, AT S
W o SNUE SPRd BT ol T & GaE H e
SN T o AU F ST i 98 HT ol 8 7 5

In the medium where E. Coli was growing,
lactose was added, which induced the lac
operon. Then why does lac operon shut down
some time after addition of lactose in the

medium ?
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(16) 4330/(Set : D)

21. @ T4 TF B ARGT FHIC H AR [ SHET =T
THIST 1 TG B GO i 5

Draw a well labelled diagrammatic sectional view
of the female reproductive system and explain

the structure of uterus.
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